RS (EEREES) Bak

€-¥X 355
fE BEEREELERT v E (3 BEILLLE 4 BEREIRE)

e FE 0 ZEHE) & (2 ZE48) #& G EIEH)
ENFE1 397 A/8 794 H/8 1,190 A/8
ENiE2 454 M/82 907 H/H 1,361 A/8
BENEE3 514 F/H 1027 A/8 1541 FH/B
ENiE4 572 A/8 1,143 A/8 1,714 /8
BENEES 631 M/H 1,261 FA/8 1,891 FH/H

- BEREEIERTE (4 BELLE 5 BEREIRE)

i & (1 E1E18) & (2 Z1E18) e CETI=EE)
ENE1 416 M/8 832 H/H 1248 /B
BENiE?2 476 M/8 952 H/H 1428 FM/8
ENFES 539 FM/H 1077 A/8 1615 /B
ENiE4 601 F/H 1201 A/8 1,801 FH/B
BENiES 662 FM/H 1,323 /8 1985 F/H

P BERIRELERTE (5 BELLE 6 BERESRE)

e &0 T&48) 1 (2 Z&48) £ (3 T|&48)
BENE 611 F/8 1222 FH/8 1,833 F/H
ENiE?2 722 M/8 1443 H/8 2165 F/H
ENEES 833 F/H 1666 F/8 2499 F/8
EniEa 944 H/H 1,887 H/B 2830 F/H
ENEES 1,055 FM/H 2110 FH/H 3165 F/H

P WERIEELERTE (6 BEEILLE 7 BEREISRE)

i & (1 21E18) & (2 21E18) e CETI=EE)
ENE1 626 F/H 1252 /8 1878 H/B
BENiE?2 739 MH/H 1478 H/8 2216 F/8
ENiEs 854 M/H 1,707 A/8 2560 F/H
ENiE4 966 F/H 1932 A/8 2898 F/8
ENiES 1,081 F/H 2,161 F/H 3242 H/8

-~ EEHFIEELERT/EE (7 BELL L 8 BERERE)

e &0 T&48) & (2 T&48) £ (3 &48)
BENGE1 706 /8 1411 A/8 2116 F/8
ENE?2 833 F/H 1,666 F/H 2499 FH/H
ENEES 965 F/H 1930 A/8 2895 F/8
BNk 1,007 /8 2,194 M/H 3290 F/H
ENEES 1231 FH/H 2462 H/H 3692 F/8

- WEREELERTE (8 BEEILLE 9 BEREIRE)

e F& (0 EE48) Fl& (2 Z&48) #& G EIEH)

ENEE 1 718 M/8 1435 F/8 2152 FH/H

FAP—E ALY Z—ERBE S
IERBR G (ENEREE) Bak




ENiE2 848 H/H 1696 F/8 2544 F/H
ENFES 981 H/8 1962 F/8 2943 H/H
BENiE4 1,116 F/8 2232 M/H 3348 H/H
ENFES 1,252 M/H 2504 FH/H 3756 H/H
[ERIFE])
FRAFE e BNGH) | HEeQIER) | #HE G EGHE)
ANArBh s (1) 43 F/[A] 86 F/[E 129 M/[H
ANJrBh s (10) 59 M/[E 118 F/[E 177 H/[E]
ATERERE eI (1) 108 F/H 215 /B 322 H/R
AEERERE) s (1) 215 M/R 429 H/A 644 H/A
&R RERIRINR. (1) A 60 H/H 120 M/H 180 H/H
AR FSRERIMINGE. (1) = 82 HM/H 163 HM/H 245 HM/H
&5 HEER IR (1) 22 H/H 43 H/H 65 M/H
ADL HERFEEINE (1) 33 H/H 65 M/H 97 H/H
ADL #ERFEINE. (1) 65 FM/B 129 H/A 193 /B
FHETEARA L R 54 M/H 108 FH/H 161 A/A
SeRUGE  IE 215 H/[H] 429 F/[E 644 M/[A]
FIfE e AT Y —= 7 (1) 22 M/[E 43 H/[E 65 M/[E
AR « A7 V—=2 7 hE (1) 6 M/ 11 F/E 16 FA/[E
HeraEm & (1) 161 F/[E 322 HM/[H] 483 F/[E
M fzegnerm g (1) 172 H/[H] 343 /A 515 F/[E|
— 2R AHER BN (1) 24 F[/[a] 47 /= 71 FH/[E
H— e R ERIAHITR(CINE (1) 20 HM/[g] 39 M/[g] 58 M/[g]
H— B R ERATHITR LIS () 7 H/[E 13 H/[E 20 F/[E]
FER AR N 43 H/H 86 M/H 129 F/H
HER R T AT 49 H/H 97 M/H 145 M/H
PR AR A= NI 65 F/8 129 F/8 193 M/H
SN 65 F/H 129 H/H 193 F/H

KA —EREARE LT D ZBIN S E T,
* RGN
JERBYE U IR FOFA B & DMMELORBD D —ELL B LT DA ATERMEITR L 3%
IR SNET,
- SR FEALEYE IR (1)
— 2 H ORI OB B FEUEE IR & LT 9. 2% S E T,

[t ov—e 2]

F—E RN Bk
BHERORMCET L8 610 F/[H]
H A G Ft
TIT 4 BT 4 BN FrErE
B 10 M
JRERD 73 k 50 /%%
BieH U ey sy 110 F/#z
Heksteo 120 M/

KEFEORMICET A2 EAITY B D 8K 30 43 E TITh v AR WA v LB L CH

TA - R H—ERE S
IBRPGE (ENBRIEE) FroR
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